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Ratio @

Discover

For every 2
yellow balloons
There are 30 balloons Tinflated ...
in the net.

... Tinflated
3 red ones.

0 o Whatis the rotio of yellow to red balloons in the net?
b) How many of the balloons are yellow?

How many are red?

@) For every 2 yellow balloons Olivia inflated, Ebo inflated 3 red ones.

99 pe———

§ shows a comparison

' ' ’ between two things.
33

The ratio of yellow to red balloons in the netis 2 : 3.

b) There are 30 balloons in total.
Method |
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There are 5 balloons in each group.

I drew balloons
in the correct

ratio until 1
reached 30.

I worked the answer out. T
thought of the 5 balloons as

a group and then worked out
how many groups of balloons
there are in 30.

30+5 =6 groups
There are 2 yellow balloons in each group.
6x2=12

There are 3 red balloons in each group.
6x3=18

There are 12 yellow balloons and 18 red balloons in the net.
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0 here are 20 slices of cale.

For every | slice of carrot cake there are 4 slices of lemon cake.

Voysss

How many slices of each cake are there?

Complete the bar model to help you work out the answer.

wm )
20
S S o —

There are () stices of carrot cake and [ stces of lemon cake.

e Mr Lopez counts 63 balls in the PE cupboard.
For every 2 footballs there are 5 tennis balls.

How many of each ball are there?

There are(___Jfootballs and () tennis balis.
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e Shade in the rectangle to show 3 red squares for every 5 blue squares.

Explain your method.

O There are 40 socks in a drawer.
The ratio of grey to white socks is 3: 2. } } ﬂ ﬂ
@) How many grey socks are there?
There are D grey socks in the drawer.

b) How many pairs of white socks can be made?

(T Jpairs of white socks con be made.





